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Brain ¢— Storm

Financed by section on the Balance Sheet shows the
amount of capital employed i.e. capital of owner + long
term liabilities.

Long term liabilities are loans which:

A have to paid in a period of one year.
B recorded under current liabilities.

C have to be paid after one year.

D recorded under current assets.
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Long term liabilities are loans which have to be paid after
one year. Whereas short term loans are current liabilities,
which have to be paid within one year.

The Balance Sheet prepared at any particular date
is intended to show:

A The nature of the business

B The identity of the owner

C The physical size of the business

D The financial position of the business

Broin'{* Storm

Balance Sheet lists down the assets, liabilities and capital
at any date to show the financial position. It cannot show
value or physical size of the business.

-
The Capital Account at the end of the year will not
be affected by:

Additional investment

B Drawings

Net loss

D Purchase of office furniture
Beain 'Y Storm

Cap/tel of a buslnsss ls affected by net profit, net loss,
or by the owner.
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Drawing by the owner would:

A reduce owner's equity and increase liabilities.
B reduce both assets and owner's equity.

C reduce assets and increase liabilities.

D None of the above.

B ¥ S

Drawing. wEetber by -stock ofcash. reduce the assets and -

‘at the same time, reduces owner's equity or capital.

Fixed assets can be best described as:

A items bought to be used in the business.

B items which will not wear out quickly.

C expensive items bought for the business.

D long-life items and are not bought specifically
for resale.

All are definitions of fixed assets but the most comprehensive
is the last one.

Balance Sheet totals should agree. Is this statement
true?

A No, sometimes they differ due to some reasons.
B Yes, always.

C No, because it is not a Trial Balance.

D Yes, except where it is prepared at the year end.
Rrain St

Balance Sheet shows the authencity of the accounting
equation: Assets = Capital + Liabilities.

Fixed assets are bought by the business for:
A Resale

Owners use

Business use

None of the above

B
c
D
Beain™* Sterm

The definition of fixed asset is that it is not for the purpose
of resale but for use in the business.

A motor vehicle which was found to be unsuitable
for the business was taken by the owner for his
private use. How is this treated in the account?

A As a Capital. B As a Drawing.

C As a Expense. D As a Income.

Beain " Sitarm

Drawings is when owner withdraws cash or any goods
(stock, inery etc.) from the i for use,

whereas capital is owners investment; expenses is the day
to day cost of running business and income is the eamnings.
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39. Which of the following statement is correct?
A Drawings result is net loss.
B Profit increases capital.
C A loss does not alter capital.
D Capital is also called net profit.

*Storm

Drawings is not related to profit or loss calculation, it infact
decreases capital. Loss on the other hand, reduces capital
and capital is investrment of the owner on which he eams
a profit or loss.

Braun™

Which of the following transactions would affect the
capital of a business?

A Goods for resale purchased on credit.

B A receipt from a debtor of $210.

C A sale of goods, which cost $150 on credit for
$220.

D A purchase of a machine for $350.

Bran’* Storm

Profit increases capital, so if goods worth $150 was sold

for $220, then capital would increase by $70. In other

situations, both asset and liabilities are increasing and

decreasing by the same amount and thus there is no affect
on capital.

The debit entry for net loss is on the debit side

o
A The Trading Account S
B The Profit And Loss Account
C The Drawing Account
The Capital Account
Trading Account calculates gross profit, Profit and Loss

Account calculates net profit loss, and any reduction in
Capital Account is debited.

o

The ascending order in which current assets should
be shown in the Balance Sheet is:

A stock, debtors, bank, cash.
B cash, bank, debtors, stock.
C debtors, stock, bank, cash.
D stock, debtors, cash, hank.

Ascending order of current assets means that less liquid
assets first and most liquid asset in the last. The least
liquid asset is stock, debtors and the most liquid asset
is the bank and cash.

43.

45

. Current liabilities of a firm are:

The correct heading for the Balance Sheet at the
end of December 2001 is Balance Sheet of J.
deckson R ——
A for the period ended 31 December, 2001.

B for the year ended 31 December, 2001.

C as at 31 December, 2001.

D as at December, 2001.

Bran’Y* Stere

Balance is drawn at any date, it is not only for end of
the year but for any date of the year. So the date, month
and year has to be mentioned.

Current assets can be classified as:

A Amounts which it is due to receive within one
year of its Balance Sheet date.

B Its cash and positive bank balances and other
assets, likely to be converted into cash or bank
balances, as a result of its normal trading
operations.

C The total of its debtors, its stocks and its cash
and bank balances.

D Amounts which it is due to receive, as a result
of credit sales made by it within the last year.

Brain"™ Storm
B is a comprehensive definition of current assets i.e. cash
and assets that can be converted into cash easily.

A its bank overdrafts, if any, and any portions of
its term loans which it is due to be repaid within
one year's time.

B all liabilities which it is due to be discharged
within one year's time.

C any trade creditors which it is due to be paid
within three months of that date.

D all liabilities which it incurred in the six months
prior to that date.

Current liabilities are all short term loans e. g. book overdraft
and creditors from whom goods have been bought on
credit. A, C and D are all parts of this definition but B
is a comprehensive one.
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46.

Long term liability of a firm can be classified as:

A anamount payable by the firm, within six months
of the date of the Balance Sheet. -

B an amount payable by the firm, within nine
months of the date of the Balance Sheet.

C an amount payable by the firm, after more than
one year from the Balance Sheet date.

D None of the above.

2 o .
Brein’* Storm
Long term liabilities are loans that have to be paid after
a period of one year or more. A and B define current
liabilities but not long term.

. The firm of a sole trader has the following information

about their business.

Total of all assets at 1 June $2800
Total of all liabilities at 1 June $2500

Net profit earned during June $1000
Capital introduced during June $5000
Drawings during June $700

The sole trader's capital at 30 June was:
A 85100 B $5300
C $5500 D $5600

G St

Opening capitai + Net profit + Additional investment —
Drawings = Ending capital

(2800 — 2500) + 1000 + 5000 — 700 = ?

Hn

-
Capital of a sole trader is equal to:

A The sum of his fixed assets plus his current
assets at that date.

B The total of his fixed assets at that date.

C The total of his net assets at that date plus the
total amount of capital he has introduced.

D The total of his net assets at that date.

Emm':v"Stgnm

A option can only be true, if there are no current liabilities.

Net Assets or Capital = Total Assets — Total Liabilities (both
fixed and current)

49.

51,

-

Calculate the net profit of a trader when his beginning
capital is $25000, drawings is $23000 and capital
atend was $31000. He did not introduce new capital
during the year.

A $17000 B $23000

C $29000 D $32000

Broin * Sitorm
Net profit = Closing capital - Opening capital + Drawings
= $31000 — $25000 + $23000

. Capital of the firm would increase by:

A an increase in the firm's fixed assets and a
corresponding decrease in its current assets.

B an increase in the firm's fixed assets and a
corresponding increase in its liabilities.

C a decrease in the firm's current assets and no
change in its liabilities.

D an increase in the firm's assets and a smaller
increase in its liabilities.

ie
Brac'V* Siura
Option A means no change in assets.

Option B means assets increase and liabilities increase,
there is no change in capital.

Option C means a decrease in assets, causes decrease
in capital.

Which statement is correct?
A Carriage inwards is a credit
B Carriage inwards is a debit
C Purchases returns is a debit
D Sales retumns is a credit

Bean 'Y Stern

Carriage inwards is always debited, purchases returns is
always credited and sales returns is always debited.
Carriage outwards is an expense on sales and reduces
profit, it is always debited.




